4G 4 100% T

hEER = W

LIhfe%R— B EEE)

< (ERRAAERRARER
Wi-Fi

v °®
Kighx

4 1TEHHERR

BiRmE
O BfA o ikl 1

2his H =

iz (o]
-k
&

4 TEHHEEE—OK

Inhon F28 VOLTE

4G 4 100% I

=/L =

X AE

2.a>%ﬁ—> = Eﬁﬁ

o) 4G 4’ 100% Ik
<« {TEHERRRRE
VX 3 T R

4G (3E3)

4 )
hnag&3y 4G
LTE &5
£/ LTE HEF
;ZE%DEI =]
AL ftim: ﬂaﬁ

“'"I:

- iRE
Tk
@

5.n58 %] 4G LTE B, B8
—0K

BRIE

o AERRFAEPRABER |
Wi-Fi » {TEh4RRS ..

BEGHER
EECf ~ USB
. Eih
100%
o R

=

3 4BRENIERR 48RS —OK

WBAG 41 100% i

1TEIEER R E

AL IR

4G (EH)

hnag&sy 4G
LTE #E=

M LTE HE?:% ®
;ZE%DEI =]

FEfthis HEI’J
YEE (F3)

n

6.58

ll%






